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QUESTION 1
Elaine is the project administrator for the Finance project.

The team requests a brand new field called Currency. It must be added to the screen used on the Approval transition.
How can these requirements be met?

A. Elaine can create the field and add it to the screen.

B. A Jira administrator must create the field and add it to the screen.

C. A Jira administrator must create the field but Elaine can add it to the screen.
D. Elaine can create the field but a Jira administrator must add it to the screen.
Correct Answer: B

You will be taken directly to the Configure Screen page, where you can add fields to your new screen

QUESTION 2

A project uses the Simplified Workflow and a Scrum board.
You are the project administrator and the board administrator, but Extended project administration is
disabled.

Which two actions can you perform? (Choose two.)

A. add a status via the workflow editor

B. add a status via the Scrum board

C. set a workflow resolution via the Scrum board

D. set a workflow resolution via the workflow editor

E. add a transition via the workflow editor

F. add a condition via the Scrum board

Correct Answer: BE

QUESTION 3
Martina is unable to perform the following actions in the App project:
Create and manage versions Create and manage components Rank issues in the backlog

The App project does not use a shared permission scheme.
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Which two permissions will allow her to perform those actions? (Choose two.)
A. Transition Issues

B. Move Issues

C. Administer Projects

D. Bulk Change

E. Schedule Issues

Correct Answer: CE

Reference: https://confluence.atlassian.com/adminjiracloud/managing-project-permissions776636362.html

QUESTION 4

The extract of a permission scheme is shown below Angela is a new team member. Her main tasks are:

Permission Granted to

Administer Projects  |[Project role: Administrators

Project role: Viewers

Brawse Projects Application access: Any logged in user

Create |ssues Project role: Creators
Edit Issues Project role: Editors

Link Issues Project role: Linkers
Transition Issues Project role: Transitioners

Search the project for duplicate bugs Link them Close duplicate bugs in the workflow
Which two project roles does she need? (Choose two.)

A. Linkers

B. Creators

C. Editors

D. Transitioners

E. Viewers

F. Administrators

Correct Answer: AE
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QUESTION 5

You are the project administrator for a Software Scrum Project.

Time Tracking is globally enabled.

Identify the reason why users are NOT able to log work.

A. The Log Work field is not present on any project screens.

B. The users do not have the Work On Issues permission.

C. Time Tracking on the Scrum board is set to None.

D. The issues do not have an Original Estimate.

E. Issue estimation on the Scrum board is set to Story points instead of Original Estimate.
Correct Answer: B

Reference: https://confluence.atlassian.com/jirakb/unable-to-log-work-224400725.html
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